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Graph each of the following. Label the axes where the critical points occur. Complete the blanks
for the missing information.
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Use the Pythagorean Identity to find the 5 missing trigonometric functions.
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Find the measures of a positive angle and a negative angle that are coterminal with each given angle.
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P is a point on the terminal side of ¢ in standard position. Find the exact value of the six trigonometric
functions for 6.
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Convert each measure from degrees to radians or from radians to degrees.
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Find the complement and supplement of each angle.
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